MARKING SCHEME CHEMISTRY PAPER 233/1 2000

. a) Mass increases * because oxygen combine with copper metal (llifzmmks]
b) Mass decreasesv” *. It decomposes lists gases that escape (1'2 marks)
. 8)2H + 2¢e > H, bl (1 mark)
b) Mg,/ :
3. a) Ammonia gasv’ (1 mark)
b) Filtration/precipitation/Crystallizationv’ (1 mark)
c) ZN&I‘IC{.);,{S}‘"" NﬂzCO:;{g} + Cﬂz{g} wE Hgﬂm} v (1 mark)
4. a)Q=It =15x%x15 x60c ) -
= 1350¢v (1 mark)
b) Alternative 1 Alternative 2.
1350 = 0.6g of M Mo QxM
FxC
3 % 96500 U?E_ 1350 = M (% )
:i@_@xjxgﬁjﬂﬂ( y 96500 x 3
e v 0:26% 96500 x3
= ) ‘ 1350
35.76¢ = 55.76"v? (1 mark)
5. a) T{‘s} + K}F[“q) > 1-21‘{”} + me ) Z . (1 mark)
b) SXTUY v (2 marks)

6. Add excess CU tov' HNU; filterv” the mixture, add excess soluble carbonate, filterv” to obtain
residue. OR add CU to H,S0;4 and warm - (not a must), filterv” the mixture then add solublev”
carbonatev’, filtef the residue. OR Heat CU in oxygen to get CUO, dissolvev” in an acid, filter,
add a soluble carbonatev” to the solution , filter to get residuev’. 3 marks)

7. - It’s light/less densev”

- It's inert/noble/unreactive/rare gas/not flammablev” (2 marks)
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8. Study the solubility curves below and answer question that follows
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.Tem pg;{uure ‘o

Crystals of KCIO; come nm*““’bm:&Qa: 83°C the solution is saturated " with KCIOs.
Cooling canses ‘memm%%u KNO; remain®? in the solution because at 40°C the
solution is not yet3 saturated with KNO; OR KC1O; forms solid (40- 9) = 31gv". KNOs do not
form solid. @ (3 marks)

H—{i}—‘\ri:-—?:f T OR CH;CHCH;
H H H . (1 mark)

b) Propene or prop-1-cne?’ 1 mark)

10. a) H - CaCOy/Calcium carbonate~/Limestone/Manile chips (1 mark)

J — CaO/Calcium oxidev'/quick lime (1 mark)

b) As a fertilizer/for liming/making morten /living furnaces/raising soil pH/manufacture of
CaCy/Ca(HS0;),/Ca(OH),/Absolute alcohol (1 mark)
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11.
temmative 1

1!‘-"[«::!lir.l-l‘i‘tj_}r of NaoH = fﬁ =01 M)

‘Moles of NaoH = 2 %0.] -
0.002*
Mole ratio=2 - 1)
.. Moles of HzSDa =0.001+
8cm® = 0.001
1000cm® = ?
1080

. = 0.001
={.125Mv"

12.
13.
14. a) Cation - Al3+ or Mg2+

Anion - SO?"
b) Ba"(ag) + SO} gy —> BaSOu

15. Luminous

- Its sooty or smokey' """
- Not very hot"*?
- Not steady

- Quite

)

l
E

Alternative 2

sto.q{.q] + 2MNaOHgg " Nazsﬂq,q] + Hzﬂmtﬁd

Molarity of NaoH = 1116 = 0. 1M

MV, L M, x8 [
M,V, 2  01x20 2
Mu i 0.1 =20 (i)
Bx2
=0.125Mv (3 marks)
(1 mark)
(1 mark)
(1 mark)
Non-luminous
- Not sooty qr@mokﬂb’{m}
- Very hot'&
- Steady
=t Nmsy Ary two in order {‘" marks}
NB: No other differences
(2 marks)

16. When dissolves¥” in water or in fused/molten statev’

17.2) Mgy +HyO —— MgO ¥ HagV
Mgg) + ZH20q), —p Mg(OH)y5 + Ha(g)

b) Insolublev’ in water/slightly soluble

(NB: mention of water is not necessary since the liquid is not labelled)

OR

18. 10, =%KM.M=4E 1CO, =1:111M.M.=44

Y.V_J8 . i;Jj__Ef
9% t  Jaq 96 Y44
t= 96 128 (40
44
t=919 OR = 92 Sec!”™)

a9

(1 mark)



19. I¥" — Manganese IV oxide is a catalystv” and increases the rate of decompositionv” of the
hydrogen peroxide. (3 marks)

20. Add water to the mixture” in a separating funnel. Ethanol dissolves while pentane does not.
Allow the mixture to separate into two layers¥’. Open the tap to drain the lower aqueous layer.

Distill the water-ethanol mixture to get the ethanol (2 marks)
21. Acetylene (ethyne) OR Hydrogen ¥ (1 mark)
22.a)C ¥ (1 mark)

b) AV - (1 mark)

c) BY (1 mark)

23. Solid sulphur is made of Sg rings'"*”, It melts into a liquid of Sy rings™”. On further heating
the rings open W‘“}up to form long chains'"* of sulphur atoms which then entangle making it
viscous and dark. OR Sulphur melts into S8 molecules. The molecules join up to form long(ﬁ‘r]'

chain which entangle'"”! making it viscous and dark (3 marks)

24, a)

N bt
o JT—,

B s e cu-vindnaie

b) *—gzﬁ = - 69kJmol!v (1 mark)

25. The supply of nxgé‘cn in the room will be limited {4 leading to formation of CO U5 which is
poisonous. v’ - @ )

26. NHACl decomposes”™” to form NHsy and HCl. Ammonia diffuses’ faster than HCI because
its lighter. Ammonia‘™" is basic thus red litmus turns bluc while HCIY is acid thus bluc
litmus turns red. {3 marks)

27. It reacts with NaHCOj; to formv” CO; which causes the dough to risev’ (2 marks)

a0






